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1. (a) ¾Ûé¶Ûé›÷¾Ûé¶¤ø …éïõÛŠ¶¤øá•Û …é ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×˜ÛÛÅÛ¶Û ¾ÛÛ¤é¶Ûä× …ÍÛÁõïõÛÁõïõ ÍÛÛµÛ¶Û ™öé. ˜Û˜ÛÛÙ ïõÁõÛé.  7 

  Discuss Management Accounting as an effective tool of financial control. 

 (b) ½ÛÛÁõ©Û¶Ûà ÍÛ©Û©Û ÜÈÛïõÛÍÛ ¸ÛÛ¾Û©Ûà ¸ÛóÈÛ©ÛÙ¾ÛÛ¶Û …ÛÜ¬ÛÙïõ ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× ¸Û¦ø©ÛÁõ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ÈÛµÛä¶Ûé 
ÈÛµÛä ýÛÛé•ýÛ ™öé. ˜Û˜ÛÛÙ ïõÁõÛé.  7 

  “Cost Accounting is becoming more and more relevant in the ever going economic 
developing scenario in India”. Comment. 

…¬ÛÈÛÛ/OR 

 (a) ¾Ûé¶Ûé›÷¾Ûé¶¤ø …éïõÛŠ¶¤øá•Û…é µÛ×µÛÛïõàýÛ ÍÛ×˜ÛÛÅÛ¶Û ¾ÛÛ¤éø ÜÐüÍÛÛ¼Ûà ¾ÛÛÜÐü©Ûà ¸ÛæÁõà ¸ÛÛ¦éø ™öé. ÍÛ¾Û›ÛÈÛÛé.  7 

  “Management Accounting is concerned with accounting information which is 
useful to management.” Explain. 

 (b) ¶ÛÛ¨ÛÛïõàýÛ …éïõÛŠ¶¤øá•Û …¶Ûé ¾Ûé¶Ûé›÷¾Ûé¶¤ø …éïõÛŠ¶¤øá•Û¶Ûà ¾ÛÐü«ÈÛ©ÛÛ ›ä÷þùà ™öé. ÍÛ¾Û›ÛÈÛÛé.  7 

  “The emphasis of ‘Financial Accounting’ and ‘Management Accounting’ differs 
significantly”. Comment. 

 

2. …é“Û ÜÅÛÜ¾Û¤éø¦ø …éïõ Í¸ÛéÉÛàýÛÅÛ ¸ÛóïõÛÁõ¶ÛÛ ïéõ¼ÛÅÛ¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé, ›÷é ˆÅÛéî¤Öøàïõ ï×õ¸Û¶Ûà¾ÛÛ× ÈÛ¸ÛÁõÛýÛ ™öé. 
ï×õ¸Û¶Ûà …©ýÛÛÁéõ 80% Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ…é ïõÛýÛÙ ïõÁéõ ™öé …¶Ûé …é¶Ûà ÈÛé˜ÛÛ¨Û …¶Ûé ¸Û¦ø©ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà 
¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé :  14 

ÜÈÛ•Û©Û ` ÅÛÛ”Û¾ÛÛ× 

ÈÛé˜ÛÛ¨Û 1,200 

¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 560 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 240 

ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ (80% ÜÍ¬ÛÁõ) 180 

ÈÛé˜ÛÛ¨Û, ÜÈÛ©ÛÁõ¨Û …¶Ûé ÈÛÐüàÈÛ¤øà ”Û˜ÛÛÙ (60% ˜ÛÜÅÛ©Û) 100 
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 ï×õ¸Û¶Ûà¶Ûà 40% Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ ¾ÛÛ¤éø¶ÛÛé …éïõ Ü¶ÛïõÛÍÛ …Ûñ¦ÙøÁõ Ðü¾Û¨ÛÛ×›÷ ï×õ¸Û¶Ûà¶Ûé ¾ÛÆýÛÛé ™öé. …Û …Ûñ¦ÙøÁõ¶Ûé 
ÜÈÛ½ÛÛœ÷©Û ïõÁõà ÉÛïõÛýÛ ©Ûé¾Û ¶Û¬Ûà …¶Ûé ¼Û¶Ûé …é¤øÅÛÛé ¡ö¦ø¸Û¬Ûà ¸ÛæÁõÛé ïõÁõÈÛÛ¶ÛÛé ™öé. –ÛÁõ…Û×•Û¨ÛÛ× ïõÁõ©ÛÛ× 10% 
…Ûé™öÛ ½ÛÛÈÛé ™öé. Ü¶ÛïõÛÍÛ ¾ÛÛ¤éø ÜÈÛÉÛéÌÛ ¸Ûéïõá•Û ïõÁõÈÛÛ¶Ûä× ÐüÛéÈÛÛ¬Ûà ÈÛµÛÛÁõÛ¶ÛÛé 10% ÈÛé˜ÛÛ¨Û, ÜÈÛ©ÛÁõ¨Û …¶Ûé 
ÈÛÐüàÈÛ¤øà ˜ÛÜÅÛ©Û ”Û˜ÛÙ ïõÁõÈÛÛ¶ÛÛé ™öé. ï×õ¸Û¶Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé¶ÛÛ ÜÈÛïõÅ¸ÛÛé …×•Ûé ÜÈÛ˜ÛÛÁéõõ ™öé ?  

 (i) Ü¶ÛïõÛÍÛ …Ûñ¦ÙøÁõ Áõþù ïõÁõÈÛÛé …¶Ûé Í¬ÛÛÜ¶Ûïõ ÈÛé˜ÛÛ¨Û ïõÁõÈÛä×.  

 (ii) …Ûñ¦ÙøÁõ ÍÈÛàïõÛÁõÈÛÛé …¶Ûé ©Ûé¶ÛÛ ¾ÛÛ¤éø ›÷ÄõÁõà Í¬ÛÛÜ¶Ûïõ ÈÛé˜ÛÛ¨Û …Ûé™ä×ö ïõÁõÈÛä×.  

 (iii) ÈÛµÛÛÁõÛ¶Ûä× …éïõ ýÛ×ªÛ ”ÛÁõàþùÈÛä× …¶Ûé ©Ûé¶ÛÛ ÅÛàµÛé ` 20 ÅÛÛ”Û¶ÛÛé ÈÛµÛÛÁõÛ¶ÛÛé ÜÍ¬ÛÁõ ”Û˜ÛÙ ïõÁõÈÛÛé. 

 Š¸ÛÁõ¶ÛÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ïõýÛÛé Š«Û¾Û ÜÈÛïõÅ¸Û ï×õ¸Û¶Ûà ¾ÛÛ¤éø ýÛÛé•ýÛ ™öé ©Ûé ›÷¨ÛÛÈÛÛé. 

 X limited is manufacturing a special type of cable used by electric undertakings. The 
company is currently working at the 80% capacity level. Data on annual sales and costs 
are as follows :  

Particulars ` in lakhs 

Sales 1,200 

Direct Materials 560 

Direct Labour 240 

Factory Overheads (80% Fixed) 180 

Selling, Distribution and Administration Overheads 
(60% Variable) 

100 

 The company has just received an export order which requires utilization of 40% of the 
plant capacity. The order cannot be split and has to be executed in one lot as quickly as 
possible. The price offered is 10% lower than the current domestic price. Further it will 
be necessary to spend 10% more on variable selling, distribution and administration 
costs because of the special type of export packing required. The company is considering 
the following options : 

 (i) reject the order and carry on with the domestic sales ; 

 (ii) accept the export order and allow the domestic sales to fall to the extent required ; 

 (iii) create additional plant capacity by installing new machinery which will result in 

increase of fixed costs by ` 20 lakhs per annum.  

 Evaluate each of these options is the best and suggest course of action for the company. 

…¬ÛÈÛÛ/OR 
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 …é“Û…éÅÛ ÜÅÛÜ¾Û¤éø¦ø ©Ûé¶Ûà 75% Š©¸ÛÛþù¶Û ÉÛÜî©Û…é ¼Ûé ¸ÛóïõÛÁõ¶ÛÛ Š©¸ÛÛþù¶ÛÛé X …¶Ûé Y Š©¸ÛÛþù¶Û ïõÁéõ ™öé. 
¼Û×¶Ûé Š©¸ÛÛþù¶ÛÛé¶ÛÛ ¸Û¦ø©ÛÁõ ¸ÛªÛïõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

…éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û …¶Ûé ÈÛé˜ÛÛ¨Û Š©¸ÛÛþù¶Û X 

3,000 

Š©¸ÛÛþù¶Û Y 

2,000 

¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 10 20 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 20 20 

ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ÜÉÛÁõÛé¸ÛÁõà ”Û˜ÛÛÙ (40% ÜÍ¬ÛÁõ) 25 15 

ÈÛÐüàÈÛ¤øà …¶Ûé ÈÛé˜ÛÛ¨Û¶ÛÛ ÜÉÛÁõÛé¸ÛÁõà ”Û˜ÛÛÙ (60% ÜÍ¬ÛÁõ) 40 25 

ïäõÅÛ ”Û˜ÛÙ  95 80 

…éïõ¾Ûþùà¥ø ÈÛéé˜ÛÛ¨Û Ýïõ¾Û©Û 115 95 

 ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ÜÉÛÁõÛé¸ÛÁõà ”Û˜ÛÛÙ¶Ûà ÈÛÍÛæÅÛÛ©Û ýÛÛ×ÜªÛïõ ïõÅÛÛïõ ¸ÛÁõ ™öé ›÷é¶Ûà …™ö©Û ™öé. ýÛÛ×ÜªÛïõ ïõÅÛÛïõ þùÁõ      
` 10 ™öé.  

 ï×õ¸Û¶Ûà¶Ûé ›Û¸ÛÛ¶Û¬Ûà Š©¸ÛÛþù¶Û X ¾ÛÛ¤éø ` 87.50 ¶ÛÛ ½ÛÛÈÛé …Ûñ¦ÙøÁõ ¾ÛÆýÛÛé ™öé ©Ûé¾Û›÷ ï×õ¸Û¶Ûà¶Ûé ¼Ûê•ÛïõÛéïõ¬Ûà 
Š©¸ÛÛþù¶Û Y ¾ÛÛ¤éø …éïõ …Ûñ¦ÙøÁõ ` 77.50 ¶ÛÛ ½ÛÛÈÛé ¾ÛÆýÛÛé ™öé. ¼Û×¶Ûé …Ûñ¦ÙøÁõ ¾ÛÛ¤éø ”ÛÛÍÛ ¸ÛéÝïõ•Û ¸Ûé¤éø ` 2.50 

¶ÛÛé ¸ÛóÜ©Û …éïõ¾Û ”Û˜ÛÙ ïõÁõÈÛÛ¶ÛÛé ™öé. ï×õ¸Û¶Ûà ¼Û×¶Ûé¾ÛÛ×¬Ûà …éïõ …Ûñ¦ÙøÁõ ¸ÛÛé©ÛÛ¶Ûà 25% ÈÛµÛÛÁõÛ¶Ûà Š©¸ÛÛþù¶Û 
ÉÛÜî©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà¶Ûé ÍÈÛàïõÛÁõà ÉÛïéõ ™öé.  

 ï×õ¸Û¶Ûà ïõýÛÛé …Ûñ¦ÙøÁõ ÍÈÛàïõÛÁéõ ›÷é¬Ûà ©Ûé¨Ûé ¾ÛÐü«Û¾Û ºõÛýÛþùÛé ¬Ûˆ ÉÛïéõ ©Ûé ¾ÛÛ¤éø ¶ÛºõÛé þùÉÛÛÙÈÛ©Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ 
ïõÁõÛé.  

 Excel limited operating at 75% level of activity produces two products X & Y. The cost 
sheets of these two products are as under : 

     (` Per Unit)  

Units produced and sold Product X 
3,000 

Product Y 
2,000 

Direct Materials 10 20 

Direct Labour 20 20 

Factory Overheads (40% Fixed) 25 15 

Administration and Selling Overheads (60% Fixed) 40 25 

Total Cost 95 80 

Selling Price per unit 115 95 
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 Factory overheads are absorbed on the basis of machine hour which is the limiting 

factor. The machine hour rate is  ` 10 per hour. 

 The company receives an offer from Japan for the product X at a price of  ` 87.50 per 
unit. Alternatively, the company has another offer from Bangkok for the purchase of 

product Y at a price of  ` 77.50 per unit. In both the cases, a special packing charge of          

` 2.50 per unit has to be borne by the company. The company can accept either of the 
two export orders by utilizing the remaining 25% of its capacity. 

 Advise the company with detailed working as to which proposal should be accepted and 
prepare a statement showing the overall profitability of the company after incorporating 
the export proposal suggested by you. 

 

3. ¶ýÛä ˆÜ¶¦øýÛÛ ÜÅÛÜ¾Û¤éø¦ø ¸ÛÛ×˜Û ÈÛÍ©Ûä…Ûé A, B, C, D …¶Ûé E ¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé …¶Ûé ©Ûé…Ûé ©Û¾Û¶Ûé 
¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà …Û¸Ûé ™öé : 14 

¸ÛóÜ©Û …éïõ¾Û ` 
ÜÈÛ•Û©Û 

A B C D E 

ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û  96 84 76 62 54 

¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 30 28 32 30 32 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 36 32 12 8 8 

ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ× ÜÉÛÁõÛé¸ÛÁõà ”Û˜ÛÛÙ  

(¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 50%) 

 

18 

 

16 

 

6 

 

4 

 

4 

ïäõÅÛ ”Û˜ÛÙ  84 76 50 42 44 

 þùÁéõïõ ÈÛÍ©Ûä¶Ûà ¾ÛÐü«Û¾Û ¾ÛÛ×•Û ©Ûé¶Ûà ›÷¨ÛÛÈÛéÅÛ Ýïõ¾Û©Ûé þùÁõ ¾ÛÜÐü¶Ûé ¶Ûà˜Ûé ¾Ûä›÷¼Û ÁõÐéüÉÛé.  

A B C D E 

3,000 2,400 1,800 1,200 1,200 

 ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ¸Û¦ø©ÛÁõ¾ÛÛ× X ¶ÛÛ¾Û¶ÛÛé …éïõ ”ÛÛÍÛ ½ÛÛ•Û ™öé, ›÷é¶Ûà …™ö©Û ™öé. ©Ûé¶Ûà ¸Û¦ø©ÛÁõ …éïõ¾Ûþùà¥ø            
` 6.00 ™öé. ï×õ¸Û¶Ûà¶Ûé ¾ÛÐüàü¶ÛÛ þùÁõÜ¾ÛýÛÛ¶Û ºõî©Û 11,600 …éïõ¾ÛÛé ¾ÛÇà ÉÛïéõ ™öé. þùÁéõïõ ÈÛÍ©Ûä¶ÛÛ …éïõ 
…éïõ¾Û¶ÛÛ Š©¸ÛÛþù¶Û ¾ÛÛ¤éø X ¶ÛÛ ›÷ÄõÁõà …éïõ¾ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 

A B C D E 

2 2 6 8 10 
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 ¾Û›æ÷ÁõÛé¶Ûé ïõÅÛÛïõ þùà¥ø ` 3.00 ¶ÛÛ þùÁéõ ˜ÛæïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé …¶Ûé ¾ÛÐüà¶Ûé ºõî©Û 40,000 ïõÅÛÛïõÛé ›÷ ¸ÛóÛ¸©Û 
™öé. ÍÛ×˜ÛÛÅÛïõÛé…é ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛé ÜÈÛ˜ÛÛÁõ ïõÁõ©ÛÛ× ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶ÛÛé ”Û˜ÛÙ ¾ÛÛÜÍÛïõ ` 60,000 ¬Ûà ÈÛµÛÈÛÛé 
›Ûéˆ…é ¶ÛÜÐü …é¾Û ¶Û‘õà ïõýÛäÚ ™öé.  

 Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà A, B, C, D …¶Ûé E ¶Ûä× ËÛéÌ¥ø Ü¾ÛËÛ¨Û ¸ÛÍÛ×þù ïõÁõÈÛÛ ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûä× ¾ÛÛé¦éøÅÛ 
ÜÈÛ•Û©ÛÈÛÛÁõ ¼Û¶ÛÛÈÛÛé. ¸ÛóÊ¶Û¶ÛÛé ŠïéõÅÛ ›÷ÄõÁõà ¶Û¬Ûà.  

 New India Limited manufactures 5 products A B C D & E and the following information 
is supplied to you : 

Per unit of Product in ` 
Particulars 

A B C D E 

Selling Price 96 84 76 62 54 

Direct Material 30 28 32 30 32 

Direct Labour 36 32 12 8 8 

Fixed Overheads (50% of Direct Labour) 18 16 6 4 4 

Total Costs 84 76 50 42 44 

 Expected maximum units demand per month for each product is at the price indicated is 
as under :  

A B C D E 

3,000 2,400 1,800 1,200 1,200 

 Costs of materials include a special component X which is in short supply. It costs ` 6 
per unit. Only 11,600 units will be available in the company during the month. The 
number of units of X needed for a unit of each product is :   

A B C D E 

2 2 6 8 10 

 Labour is paid at a rate of  ` 3.00 per hour and only 40,000 hours are available in a 
month. 

 The management, for working capital reasons has decided the expenditure on materials 
should not exceed ` 60,000 in a month. 

 In order to select the best mix of the products A B C D & E, you are asked to formulate a 
Linear Programming Model with all details, with the help of the above information in the 
standardized manner. Solution to the problem is not required. 

…¬ÛÈÛÛ/OR 
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 (a) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûà ÜÍÛ¾ÅÛéîÍÛ ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé.  7 

  Explain Simplex method of Linear Programming model. 

 (b) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û ¾ÛÛé¦éøÅÛ¶ÛÛ ºõÛýÛþùÛ …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  7 

  State the advantages and disadvantages of Linear Programming model.   

 

4. (a) ›÷ÈÛÛ¼ÛþùÛÁõàÅÛ“Ûà ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. ›÷ÈÛÛ¼ÛþùÛÁõà ïéõ¶®ùÛé ïéõÈÛà Áõà©Ûé ¶Û‘õà ¬ÛÛýÛ ™öé ? 7 

  What is Responsibility Accounting ? How are responsibility centres are      
determined ? 

 (b) ïõÛ¾Û•ÛàÁõà ¾ÛÛ¸ÛÈÛÛ¶Ûà Áõà©ÛÛé ©ÛÁõàïéõ ÁõÛéïéõÅÛà ¾Ûæ¦øà ¸ÛÁõ ÈÛÇ©ÛÁõ¶ÛÛé ”ýÛÛÅÛ ŠþùÛÐüÁõ¨Û ÍÛÛ¬Ûé ÍÛ¾Û›ÛÈÛÛé. 7 

  What is ROI analysis ? Explain it in detail giving an illustration. 

…¬ÛÈÛÛ/OR 

 (a) Í¸ÛµÛÛÙ©¾Ûïõ Ü¶ÛÉÛÛ¶ÛàïõÁõ¨Û¶ÛÛé …¬ÛÙ …¶Ûé ¸ÛóÜ’õýÛÛ ÍÛ¾Û›ÛÈÛÛé. 7 

  What is the meaning of competitive bench-marking ? Explain its process. 

 (b) ÜÈÛïõÛÍÛ ¾ÛÛ¸ÛÈÛÛ¶ÛÛ ›ä÷þùÛ×-›ä÷þùÛ× ¾ÛÛ¸Ûþ×ù¦øÛé ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain various techniques of measuring growth. 

 

5. ¶Ûà˜Ûé¶ÛÛ ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : (•Û¾Ûé ©Ûé ÍÛÛ©Û) 14 

 Answer the following : (Any seven) 

 (1) µýÛéýÛ-Ü¶ÛµÛÛÙÁõ¨Û¶Ûà Áõà©ÛÛé. 

  Techniques of Goal-setting. 

 (2) µÛ×µÛÛ¶ÛÛ µýÛéýÛ 

  State the motives for business. 

 (3) ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé …é¤øÅÛé ÉÛä× ? 

  What is Margin of Safety ? 

 (4) ÉÛéÌÛ …ÛÈÛïõ …é¤øÅÛé ÉÛä× ? 

  What is Residual Income ? 

 (5) ¶ÛºõÛ ïéõ¶®ù ÜÈÛÌÛé ÅÛ”ÛÛé.  

  Explain Profit Centre. 
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 (6) ¦æø¼ÛéÅÛà ¸Û¦ø©ÛÁõ …¶Ûé Š©¸ÛÛþù¶Û ¸ÛÐéüÅÛÛ×¶Ûà ¸Û¦ø©ÛÁõ  

  Explain Sunk Costs and Pre-Production Costs. 

 (7) Š©¸ÛÛþù¶Û ¸Û¦ø©ÛÁõ …¶Ûé ÍÛ¾ÛýÛ ¸Û¦ø©ÛÁõ ÍÛ¾Û›ÛÈÛÛé.  

  Explain Product Costs and Period Costs. 

 (8) ˜ÛÛÈÛàÄõ¸Û ¸ÛÁõà¼ÛÇ …é¤øÅÛé ÉÛä× ? 

  What is limiting factor ? 

 (9) …×ïäõÜÉÛ©Û ¸Û¦ø©ÛÁõ …¶Ûé Ü¼Û¶Û…×ïäõÜÉÛ©Û ¸Û¦ø©ÛÁõ ÍÛ¾Û›ÛÈÛÛé.  

  Explain Controllable and Uncontrollable Costs. 

 (10) ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ …é¤øÅÛé ÉÛä× ? 

  What is Relevant Costs ? 

___________ 
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